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(41) Binomial Expansion 
(Factorial Notation)  

 

(1) Without a calculator, find the value of 5! 

 

 

 

 

 

(2) Without a calculator, show that ൫ହଷ൯ = 10 

 

 

 

 

 

 

(3) Given that ൫ସ௥൯ = 4, find the possible values of 𝑟. 

 

 

 

  

(1) Given that ൫ଵ଼௠൯ =
ଵ଼!

ଷ!
 write down the possible 

values of 𝑚. 

 

 

 

 

 

 

 

(2) Simplify 𝑛(𝑛 − 1)! 

 

 

 

 

 

 

 

(3) Given that ൫ଵ଺ହ ൯ = 4368, write down the value of 

𝑛 such that ൫ଵ଺௡ ൯ = 4368, 𝑛 ≠ 5. 

 

 

 

 

  

(1) Show, with full workings, that ൫௡ଵ൯ = 𝑛 

 

 

 

 

 

 

 

 

(2) Show, with full workings, that 

 ൫௡ଷ൯ =
௡యିଷ௡మାଶ௡
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